REBXFOELUE bigAOOT7-(1)

o+ 1= 11 144=

2 44 3= s 142 =

319+ 9= 9] 344 =

1144 5= 10024 5=

5/ 3+ 4= 1" 543=

6] 2+2= 2 545=
RET: Qi
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REBXFOELUE bigAOOT7-(2)

1143= 1124+ 5=
2190+ 1= s 4492 =
31 441= 9] 344 =
4144 5= 10054+ 5=
514 2= 144 1=
6 3+ 3= 1244 3=
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REBXNFOELUE bigAOOT7-(3)

o+9= 11343 =

214+ 4= 8 3+ 1=

39+ 2= 9/ 44+ 3=

412+ 3= 100 342 =

51 1T+ 9= 1" 543=

6 44 95= 12 44 2=
RET: Qe
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REBNFDREULE 2)|=» 1114+3= 4 124+5= 7

bigAOO1 21541 = 6 s 44 2= 6

[@DZ{] 3 4+1=95 [I3+4=7
O 1144+5=9 [10W5+5=10

o 5/1+2=3 [14+1= 295

i <3>\ 6/3+3=6 [124+3=7
15+1=6 [11+4=5 |[1/15+5=10 [7/13+3=6
2144+3=7 [814+2=3 2| 4+4= 8 3] 3+1= 4
39+9=10 [/3+4=7 |[354+2=7 [94+3=7
$4+5=9 [102+5=7 11243=5 [(103+2=5
5/ 3+4=7 [1154+3= 8 5/ 14+5= 6 1154+3= 8
6/2+2= 4 29+5= 10 6/ 44+5= 0 12 4+2= 6
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